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[ minut , !
Answer Sheet too. Thus, total of 8 minutes are alloted for .
of two pages. The first page is Memory Page which has 12 pi
 positions. Examinee has to memorise them (pictures/shapes) with
me of two minutes. In the next two minutes, Examinee has to find out the
apes based on memory. The letter printed on the place of the picture/shape
loured in the Answer Sheet. Thus in this test (2 Sets of 12 + 12 =24 questions)
. for answering the questions are 8 minutes (4 + 4 = 8 minutes for two sets i.e. one cor
_The alloted time of 8 minutes is inclusive of the time consumed in colouring the answers,
time is alloted for colouring the answers in the Answer Sheet.

MEMORY PAGE
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fully observe the following memory page in the
turn over the memory page and colour the letters A, B, C,‘ D or]
res/shapes of the questions in the scheduled 2 minutes time.
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1e-frame i.e. no extra time is alloted for colouring the answers in the Answer Sheet.
 has two pages. The first page is Memory Page which contains two types of lines, (a)
###) and (b) double line (st ). There are several stations (®) on these two
g these stations, any 12 stations are labelled as codes consisting of three English letters.
¢ has to memorise the stations with their positions page in 2%z minutes. Thereafter, turn over
page and choose the correct positions of the stations based on memory. The letters A, B, C, D
ted on the positions are the answers of the questions which are to be coloured in the Answer
‘minutes are alloted for the second page which is inclusive of the time consumed in colouring
wer Sheet. i.e. no extra time is alloted for colouring the answers in the Answer Sheet.

Example—

MEMORY-PAGE

VAN
73
2! IysaEEmEEunEs

PCK

minutes i.e. total of 10 minutes (21 + 2%) is allotted (5. 5= 10 for .
ce has to solve the questions and colour the answers in the Answer Sheetin
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—e ——“e ; ‘——-t*g\ - Rt 1 g S
> Finding Test is an important lesson of Psychological/Aptitude :
sitment Board. In this test, total of 24 (12 + 12) questions are asked in 2 sets.
questions and 6 minutes are alloted to solve them which includes the time of
in Answer Sheet too. Thus, total of 12 minutes are alloted for 2 sets.

12 figures in the first page in one set. Examinee has to carefully observe the
inutes. Thereafter turn over the next page (question page) and next 3 minutes are
ch question consists of 5 figures labelled as A, B, C, D and E but only one figure is

X to first page. The letter of that correct figure is your answer which is to be coloured in i
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mory Test is 2 impdrta{ht lesson of Psychologica
tment Board. In this test, total of 42 (21 + 21) questions are a
questions and 6 minutes are alloted to solve them which includes

in Answer Sheet too. Thus, total of 12 minutes are alloted for 2 sets.

ictures in the first page in one set. Every picture is labelled as a number.
rise the numbers with their pictures in first 3 minutes. Thereafter turn over
page) and next 3 minutes are alloted for it. Each question consists of one
umbers as options but only one option has the correct number of the figure. You
hat correct option (A, B, C or D) which is your answer to be coloured in the Answer

oh |22
28| @ |59
37| & |32
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A-81 | 15. A-89 |
B-26 B-85
c-19 C-96
D-59 D-73
o
A-47 A-97
B-52 B-82
C-67 C-17
D-11 D-74
A-11 | 17. A-51
B-46 dﬁ B-16
Cc-32 N C-16
D-39 D-32
A58 | 18. A-32
0c@—ss B-96
b C-35 C-49
D-42 D-28
A-38 | 19. A-65
B-71 B-52
C-74 y | C-17
D-44 - D-98
A-42 | 20. A-60
B-66 - B-78
C-60 tO c-37
D—42 - D-80
A-59 |21. A-96
B-79 B-67
c-22 c-24
_58
D-76 D54
ANSWER KEY

S 6.A . 7.B
16.D 17.B 18.D

e
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i5xd ¥
' le Test is an important lesson of Psychological/Aptitude Test held by ,
30ard. It is also called Row-Column Test. There are 10 questions based ona table
me is alloted for it. The table consists of 5 lines and 5 columns. Lines go through
olumns go through vertically. Letters A, B, C, D and E are in random orders in
ns of the table. Examinee has to carefully observe the table and has to answer the

ers A, B, C, D or E based on it.

es along left to right or right to left.(<—3)

\l?
— goes along upward or downward. ( I ) N

) Jetter must be excluded. éQ
) /

letter must be included. .

nd right is related to examinee. @\
Right always indicate Lines. ?’5.

rd and download always indicate gglumns.
right are related to exami

d and Downward are related to examinee.
The line which joins two angles is called Diagonal. In other words, any line which

laces angularly is called Diagonal. Every Line or Column has two Diagonals.
e order / In opposite cases / on exchange — Letters of row changes on reversal of
hereas Letters of column changes on reversal of rows.
rsed order— Columns in reversed order—
Row 1 «<—» 5
Row2 «—» 4
Row 3 <«— unchanged
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1s— It follows following rule—
nals of Columns—
: Dignal of
1 A TOW 5

p 2 TR Y

=1, Dignal of
row 1

* It changes letters of row.
Exchange of Diagonals of Rows—

\

;‘ e b D..
-

Dignal of Column 5 Dignal of Column 1

i

t changes letters of rows.
ir— It is always even number.

eatedly occurrence of a letter
nning- The letter which comes alphabetically first among the gt
Letter of Beginning. g
ter which comes alphabetically last among the given lett
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m&e T . Rt
-ring all the 10 questions 18 5 IX inu

Column-2 Column-3

C =

h letter has the least frequency in the diagonal of row 1 and th
bet? S

.tter, which is between two D’s of row 5 has appeared 6@'6 than once in a column. Name
last letter of row 1 and then take the last leﬁe%&;thaﬁ column and pick exactly the middle
the last letter of row 1 and the last letter column 5. Next move diagonally to last

move to right third letter D, move exacﬁ' up and move upto left last letter. What is the

r? <
o i 2 wdl

nge row 1 and row 3. Take thir@ of right of row 2. Which is the letter exactly below }‘
i

e letter is the ending letter

"";’y exchange column 1 and column 5. Move upto third letter below column 2, move right i i
{ H
|

ove last below it. What is the last letter? 3!
Bl o ‘

the middle letter between middle letter of column 3 and column 57 i f!-”"
i f |

ny places of letters would remain unchanged after mutually exchanging letters of row RN

has the highest frequency in the table and it is the last in alphabet?

has no letters in pairs?
- in the table which is the beginning letter in row and columns as well as the
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: ve the watch table and answer the questions
‘to change the answer digits to letters in the SW
a2 =B, 3=C,4=Dand 5 =E.

ords of the test with their meanings are given below—
carry it) the letter or digit.
give up) the letter or digit.
handed exactly mean clockwise direction.
-] ded exactly mean anti-clockwise direction.
. It follows the following rules— \j‘?
s of letters — Exchange letters only and not thqﬁ}rectlons or digits.
f digits — Exchange digits only and not the directions or letters.

of directions — Exchange directions @ and not the letters or digits.
pair of letters of digits. ?’5'
- It indicates the next letter Qg%igit.

It indicates the previous hﬁr or digit.
g mentioned in the question, carefully observe according to its place value.

being mentioned in the question, ponder about the number.
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Qn. 7.

Qn. 8.

Qn. 9.

Qn. 10.

Move 90° left-handed of E3, move 135° right-handed. Which is the last Jet

ol

What is the last in the South-East direction? .
Which is the letter at 90° left-handed from S{zﬁth West. What is the letter._
from the letter? \QO

What is the answer on subtracting t dj,QgJits of just right and left of C2?
What is the cube root of the numb&;st infront of A2? :
Mutually exchange E3 and B?sénd same way C2 and A2. What is the value |
infront of North directj

Divide in two part by the line from E3 to A2. What would be the value «

opposite to North direction?

Make a rhombus shape by joinint the points H5, D4, B2 and A2. Wthh n

value in the rhombus?

Exchange north by south, south by cast, Al by B2 and H5 by Ds5. Wh !
letter just middle of South-East?

—Viindk
Make a triangular shape by j Joining points of H5, D4 and A2. What is the
vertices of the triangle?

Scanned by CamScanner



ok and its letters an

e consist of five options which are A B,
ol ns is 10 minutes. The test consist of two Wa ble
the test. Examinee has

 each watch table, thus total of 20 questions in

me and have to blacken the appropriate circle in the answer sheet.

ng from North-East travel right-hand@h{ 6plo South-West. Which number has the

est frequency in the path?

ing from south travel right—handecﬂ% upto North-East. What would be the number just
th of the alphabetically last @@er in the path?
ng from West-South trave -handedly upto North-East. W

dle letter in the path?
1o from West-North travel clockwise up
path?

e alphabeticall

smallest number in the path?
£ West-North and South-East. Choose alphab

upto North-West. What is the last letter?
h, mutually exchange North and South. Choose the

move right-handedly upto the second letter. What is

hat is the number opposite

to South-West. What is the frequency of number

y last letter in the Watch Table, travel right-handedly upto South-East.

ange the letters 0 etically last letter
move right—handedly
hange East and sout
letter among them,

te of the letter?
h move travel rigl__lt-handedly upto south. What is the frequency of

gdnents w1th opposite components. Choose the alphabetially
handedly upto South-East. What is the last number? »
ﬂ= East-West. What is the difference bet
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andedly upto West. Which number has

11.Starting from the smallest number travel left-h

: highest frequency in the path?
:;I ll f . 12.Starting from South-West travel right-handedly upto East. Which number has
:f | frequency in the path? A
handedly upto \gggt’-North. What is the frequency of i

" Qn 13.Starting from South travel left-
o

b
2 in the path? éQ

Qn 14.Starting from East move right-hand@&‘ upto North-West. What is the fequency

l7
57 ?&
Qn 15.Starting from East-South tra@l right-handedly upto North-West. What is the numb oppo
y

: of the smallest number@e path?
ﬁ@. 16.Shift every component of the Watch Table to one place right- handedly. What is th n

ﬁ'ont of the alphabetically last letter in the cirlce? ‘
tarting from South travel upto West-North. What is the frequency of nu: aa_gl;' "
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- 7-axis = Length (L) (10")
S xeaxis=Width B) 5
-’ 2 y-axis = Height (H) (2'4")
A dtis3 _dimensional figure which representse Bric
“ The ratio of length : width : height is 4 : 2l

" The structure has basically 6 surfaces, 8 angles and

) E 12 sides. S
3. Examinees are required to count those bricks @»

which touch surfaces. A _ g
4. Examinees are not required to count bric{s which touches angles or sides. bi-

ample

k x B

.i'
L

L. A Brick touches following brick?’s‘Down D, Left -
2

B? Q A

2. B Brick touches followin%icks. Down C, D, Right B -“‘Ij {

AT A |

3. C Brick touches following bricks. Up - B, Down G | C ~D B g

. and Right - D, E F ;
..A;, e D Brick touches following bricks. Up - A, B, Down G =ty : l
~ _E, Left - C and Right- F? H L]y ‘

E Brick touches following bricks. Up - D, Down - G,
S

- I,Left- CandRight - F?
= - F Brick touches following bricks. Up - A, Down J, Left - D, E?

hes following bricks. Up - G, Right - |
‘owing bricks. Up - E, Left - G, H, Right - J
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Sub-Part-2
[b

=

E
D
@\Nﬁany bricks it touches ?
(

D.(?) E.? A B() CO D@ E®

Qn.
?’5.
2
?sub-Part-4
N\

\
\
o
Qn. How many bricks it touches ?

A(?) B.(?) c( D.(?) Ei2)
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A() B(®

ny bricks it touches 2, Qn. How many bricks it touches ?

B.(?) c.(?)goﬁ).(?) E() A() B() C® D
B, Sub-Part-10 :
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(Number Matching Test) O\J‘:o

~Yes-No’ Test is an impor&@?lesson of Psychological/Aptitu
oard. Examinee ha@gmﬁtch the numbers of both sides of ‘=

n both sides then answer

would be “Yes’ otherwise in case of diffe
W
er would be ‘0’?

Example :—

15.3934321

9. 38333336 =3833336 (N) 16.534213

10.3821113  =3821113 (Y) 17.892134

213 18.9342134
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~would be ‘N’ (No). Blacken the appropriz

for vt

115

Total Questions : 96

33. 7960270 = 7960270 65. 5703355 = 5703535 {l
34. 5927914 = 5927914 66. 7371841 = 7371841 i
35. 3043965 = 3043965 67. 8972889 = 8972889 |
il 36. 7531865 = 7531685 68. 8261593 = 8261593 e
= 4627505 37. 8855082 = 8855082 9. 3998802 = 3989802 i)
2784780 38. 9674649 = 9674649 70. 3271050 = 3271050 i i
7741775 39. 167123 = 167132 71. 1946696 = 1946696 ﬂ; r'
= 823569 40. 3341730 = 3341730 2 8165930 = 8165930 il
= 1916580 41. 3071399 = 3071399 3\173. 4632700 = 4632700 5
= 3203911 42, 386667 = 386667 | 74. 5137807 = 5137807 |
= 1291923 43. 4575906 = 4575096e 75. 5220595 = 5220955
= 9323683 44. 5293065 = 5@@6 76. 3153641 = 3153641
= 6008290 45, 7763535 = 7763535 77. 7405582 = 7405582 |
8860680 46. 3685347 =,3685437 78. 6688424 = 6688424 i
9771829 47. 1973481Q= 1973481 79. 3743288 = 3742388 4
8414546 48. 834 = 8347310 80. 1323547 = 1323547 it |
= 3738029 49. 1643542 = 1643452 81. 2327053 = 2327053 i
= 2184762 50, 4833931 = 4833931 82. 4256930 = 4259630 il
- 4258126 51. 2024372 = 2024372 83. 8164823 = 8164823 ‘
32103 52. 5819109 = 5819019 84. 8005713 = 8005713 A3 |
53. 7162461 = 7162461 85. 5755032 = 5755032 ,’-‘};{
54 7788698 = 7788698 86. 3734332 = 3733432 1
55, 9737123 = 9737123 87. 2318696 = 2318696 I
56, 9572796 = 9572976 88. 6122385 = 6122385
57. 2029353 = 2029353 89. 4957507 = 4957570
| 58 7947515 = 7947515 90. 7149433 = 7149433
| 59.8939452 = 8939542 91. 7679350 = 7679350 ,
| 60.5015849 = 5015849 92. 6877939 = 6877939
65 = 4128565 93. 6322416 = 6322146
: 4987476 94. 998392 =
b | L O&
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tion, the replica of question-shape (left side of question) is given as options A, B,

minee has to find out the replica which is exactly same to the question-shape.
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slicas of the same Ngure 1
om the right side which does no
to be bl

answer option (circle) is
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A
=

2 =T e

ard. The purpose of the test is to examine tl

The test consists of 72 questions and time allotted for s@lﬂ ng

0¥ s

here is a shape at the left side of the question and four replica of it labelled

. ).is given at the right side of question. Examinee has to find out the exactly

_‘ f“épe among the four op

tions and that option is the answer.

b
b

1
K
E
[3

o.(8) 10-(0)

a.(a) 5.0
. = J:';v .‘:g;ﬂ_ 7
= | g : ,“'-‘H.,
J.!L 5

Scanned by CamScanner



